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The figures in the margin indicate full marks
for the questions

Paper : GECCOM2 (A)

( Basics of Income Tax )

1. (@) SR I IRW@R 7[A A 1x4=4
Fill in the blanks of the following :
’ ‘ (i) SIS JFFY AY[ET IR PR
' ATEN T 2R |

’ Income tax was first introduced in
| India in the year :
(i) 5= BIPI IHRE =rs I @B
Ll a

Gratuity received by a government
employee is
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(b)

P25/1467

(iii)

(iv)

OoTS fTEIRt S @ R forei
Write ‘True’ or ‘False’ of the following :

(2)

I-RERRI TG (RIS D w99 3
T Bt @ o=

In case of self-occupied house

property, the annual value of two
houses is taken as

TR TR et zie Rl Saa
R 4N e QT =7 |
Capital gain arising from the

transfer of a long-term capital
asset is called

(i) SRS @=ANT *[l wrs 9 TSI I9

(it)

22 T =

Dividend from Indian 'company is
exempt from tax.

IV AL EFOIN (@1 T T
ey Redicere e =if[ |
Short-term capital loss can be set

off only against short-term capital
gain.

( Continued )

1x4=4



T AT

(@)

(b)
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(iii) ¥¥ 80 C <& Ife == By wfee /
ARTER CFaerz @IS |

Section 80C applies only to
individual and Hindu undivided

family.

(iv) 3 % BroR or o SEIE SIS
4% SI@ Fq 2 |

Health and Education Cess 1is
levied at 4% on tax on total

income.

R e == [ 3wk [Refke? asw
Jhex Rt s @ FfRT 37 N,
ciR Raw g=iR fert | 2+12=14

What do you mean by the term
residential status’? Explain how you
would determine the residential status

of an individual.
< / Or
oo RIERT eo[© 5o @it ol 31%x4=14

Write short notes on the following :
(i) If& / Person

(ii) 3 S / Gross Total Income
(iiij) U I / Assessment Year
(iv) (¥4 / Pension
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(@)

3. (@) T3 X TFwe 25,000 53 T 7RIS FHIS
HE (@8 el IR e
PRE :
Mr. X is employed at Dibrugarh at a

basic salary ¥ 25,000 p.m. and he is
also getting the following allowances :

T (o)
(per month)
(eafs )
R AFH 2,000
Dearness Allowance
TR SR I 1,000
Lunch Allowance
MISEECIEICIS 2,000
Transport Allowance
fors awn (RFRGH o'a1-@IER )
(afethr Fre3 W) 300
Education Allowance (for three children)
(per child)
@B F'I-@IAR IR @B IH 500
Hostel Allowance to one child
¥ Sl A0 5,000

House Rent Allowance

o€ 3fere T AT 2AfS T2 200 T =
STy SR | (06 SISl T9% 7,000 531 &fS
Tz Sfe w9 9/ Pl 9ws o8]
a1 (563 T=RIRE 10%. IE. P
T3 @AEET 12% T 9,000 T |

( Continued )



(b)

He paid professional tax & 200 p.m.
He was in a rented house and
paying a rent of € 7,000 p.m. His
employer’s contribution in RPF @ 10%
of his salary. Interest on RPF balance
@ 12% T 9,000.

2024-25 B4 FEOET T AW (96T TT=E

“ THeE @ S e 4 14
Find out his salary income for the
Assessment Year, 2024-25.

<t / Or

wW-7efey I Io @i fAdRa
IRRA? FTAGT [ FI@S W St
TS u/s 247 FOPHR BT Y FA | 7+7=14

How will you determine the annual
value of house property? Briefly explain
the deductions u/s 24 in computing
the taxable income from house

property.

2023-24 e Foffe REFR RAw e S
TleRE were it Reaerigz @il 33

Mr. S submits the following particulars
about the sale of assets during the
year, 2023-24 :
pECI SES G
Jewellery Land Gold

RER =70 (G 5,00,000 18,50,000 3,50,000
Sale Price (¥)

P25/1467
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\ 0.9}
ofZeTl 22! e
Jewellery Land Gold
¥R 1w (5e1) e 50,000 —
Expenses on Sale ()
SRETR [E (5) 60,000  2,10,000 1,00,000

Cost of Acquisition ()

HiYTZR I5]

2007-08 2004-0S 2009-10

Year of Acquisition

5. =R =z

ClI

(b)

(@)

P25/1467

129 113

2023-24 R AW . @iz =R 348 T
2024-25 PR FHRE @ AW I OME
IR Jergq wreq <Rl aie 4 |

Calculate the amount of capital gain
chargeable to tax for the Assessment
Year, 2024-25 if CII for 2023-24 is 348.

=< / Or

T SR S{ W RIEININT ST 9 @A
IR RSy 391 =g A S F41 |

Mention the different kinds of income
chargeable to tax under the head
‘income from other sources’.

P A2, 19613 EIFOHT (F TIRNE IS
RO-SFF T RYepTz iyt 4 |

Explain the provisions of the Income-
tax Act, 1961 regarding carry forward
and set-off of losses.

148

12

i

( Continued )




&Y / Or

(b) e I (I 45) 2023-24 &1 47 Tq
OIS GiYS (983 Y WiF S o2 T=4F
Sors il RIPTZ. S1sHGiEE

Mr. Ramnath (aged 45) furnishes the
following particulars regarding his
income and other information related to
the Previous Year, 2023-24 :

& (T=)
LSRRG IR 7,82,000
Gross income from salary
F-71G *[ S (AFS) 52,000
Income from house property
(computed)

AP T e u/s 112 60,000
Long-term capital gain u/s 112

ROPTt @=AINR ©[ g 35,000

Dividend from foreign company

IRl AT o[ o 28,000
Interest from government bond
SO *[1 & R () 40,000

Winning from lottery (gross)
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( 8 )

s Ay SleiR TG foes 2™
(ULIP)JA 3@ 60,000 53! Q&[T SHSRLH |

Mr. Ramnath made contribution of
¥ 60,000 towards Unit Linked
Insurance Plan (ULIP)

2024-25 i TeuRE I @ g I
TIEATR 5 S S F

Compute the Total Income of
Mr. Ramnath for the Assessment
Year, 2024-25.

2030 T FrRIFR AT 20 TEHIFT TSRS 217
Additional Questions, 20 marks for 2023 Batch

6. (a) ooe ST T4 RPN ST WP |,
19613 RePmz IOT 4 5+5=10

Explain the provisions of the Income-
tax Act, 1961 regarding the following :

(i) T Sigl A6

House Rent Allowance

(i) Tgfodie SRy
Recognized Provident Fund
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&<l / Or

(b) WA 373 TS FE&E AW S Fm &
I w26l ¥ J A (IR @ REEEI

S forail | 10

Write any ten expenses that are allowed
for deduction u/s 37 under the head
‘profits and gains of business or
profession’.

7. oo OlEd ¥A REPHR g 4 5+5=10
Explain the following :

(@ TTS TS FqI 9
Tax deducted at source

(b) LA TeAfE
Capital asset
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Paper : GECCOM2 (B)

1. o5 @R vl @ ey o - 1x6=6

‘ ( Sales Management )
l Write ‘True’ or ‘False’ of the following :

(@ 3 Ffves A0 KA JeerAE @B e
S |

Ensuring growth is a prime objective of
sales management.

(b) R& efgmm a9 omomws T f2-9ed’s |

Pre-approach is the first step in the
selling process.

() &8 Rrerl @Bt AR TP ARwe! e e |

Sales department shapes the overall
performance of an organization.

(d) & @A <O o el SRR SR
R = |

Knowledge of market is not an essential
content of a good training program.

| (e) oS o5 P S et T [d e
' 8IS Ol FAH |

Promotional pricing policy has no
implications on sales function of an
organization.

P25/1467 ( Continued )




R —

2.

( 11 )

( fd eftrers dfired g re: fEa =
G SIS |

Training content in sales training
mainly comprises of the basic sales

technique.

oo IR & @I g5/ e S 55 (i fordr
4%2=8

Write short notes on any two of the
following :
(a) R e eefs
Formulation of sales strategies
(b) R&E Rem =46
Sales department relations
¢ R& 7 whooma

Compensation of sales personnel

(@ JfeTe REw wwer fanl Rees @rere
Jfeare RER R Tt F0 | 2+8=10

Define personal selling. Explain the
role of personal selling in marketing

strategy.
<l / Or
(b) Ifeere RKH wiF KA IagHAE q&q T7o>6
[T [ 10

Explain the relationship between
personal selling and sales management.

P25/1467 ( Turn Over )




" |

(12 )

4. (@) R& vee (fSa “rfrr @ SEwa 34 | 8

Discuss the various stages of the sales
‘ cycle.

| WW/ Or

(b) R& o cd<Ees A et el
RS PRAET @ O O Rewd 72
IRT A2
How can sales managers use data and

analytics to improve the performance of
their sales teams?

PG FA | 2+8=10

What is territory management? Explain
the benefits of territory management.

5. (@) W SARGER 527 Swe SARpE SRR

</ Or
(b) Re3d E6aF FTiF 527 Road @oF F~oFq
&Fge Raw e 34901 2+8=10

What is distribution network relation?
Discuss the importance of distribution
network relation.

6. (@) R N 7 F I gFgd SRl F=orF
oA 41 | 2+6=8

What is sales personnel? Discuss the
crucial role of sales personnel.

| P25/1467 ' ( Continued )




(b)

r-—————r

{38 )

2ql / Or

(b) R& I 3w Frfe ez gt #4118

Explain the recruitment strategies for
sales personnel.

R afirse Fre7D e 6 e 2 Rt affFree
FrI5 Sieerfa Raw weEn-l 4| 2+8=10

What do you mean by sales training
program? Discuss the significance of

sales training program.
&<t/ Or

R weleie e QaER R[fes @rer e
HICEHA P4 |

Discuss the various strategies for
motivating the sales team.

10

3030 74 FrediT AR 0 T oS &4
Additional Questions, 20 marks for 2023 Batch

8. (a)

P25/1467

R Acen oww Fan | R Acens RS
ToAMPTR RO 4 2+8=10
Define sales budget. Explain the
various components of sales budget.
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o

R e

(b)

9. (a)

(b)
P25/1467

Lo ]

&1/ Or

RFR vt et e g0 fifm aome R
e gt 3w 2+8=10

What do you mean by sales quotas?
Explain the various types of sales
quotas.

Rl swzmps sl s seRarm. s
|

Discuss the advantages and dis-
advantages of sales organizations.

10

< / Or
R&re 435 RoEes @l 196 Rewmes
RS Siesfrz SEDal <4 | 2+8=10

Define cost analysis in sales. Discuss
the various significances of cost
analysis.

( Continued )
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(ii) e WP TS Rt 3efires
<l

indicates the growth qf
individual’s psychological system.

(i) T A OO R AT &Sy
PRI FU-IOTE AR &=p
[ |

A formal conversation between twq
or more people is known as

2. oo Rk oy e fral : 1x2=9

Answer the following in brief :

(@) GRIR ] oI 24T SE I |

Mention two types of career anchors.

(b) w@mﬁf@awmmwu

Mention two processes of competency
mapping.

3. oo TIRIRT 89}k 57 (il fos - 4x2=g

Write short notes on the following :

(@) GFEAIRR o'FRE
Company profile

(b) FRIR IOHECR WF W St

Career counseling and its benefits

P25/1467 ( Continued |



{ 1y )

P 4. (@) RER SR F9 @REE Csta et
feFPTIR [ 3541 | 4+7=11

What is career planning? Explain the
basic process of career planning.

99 / Or

(b) TBIR wFel fF? HHIR THFOR @ELT

| TOIT FRAT ABH F [(FHe 727 FE?
e 4+7=11

What is behavioural skill? How is
behavioural skill helpful for employees’
career planning and growth?

5. (a) =K B9 e o & I@? AT A6
SPITIZ TG F91 | JEFT WHBR AGITS
@A AR CRIIR? 3+4+4=11

What do you mean by human
behaviour? Discuss the types of human
behaviour. How are personality traits
affecting the behaviour?

— B e

5« / Or

(b) vFel @Pres Rfer @erEz I 30| 11

Explain the various techniques of
competency mapping.

e e
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8.

(a)

(b)

(@)

(b)

| XS W

Rew &7 Ryger @ R Raw sy,
Al 3+8= 1
What is resume? Discuss the main
contents of resume.

_=<qr / Or

BIFAT @I Teizhpo! e FRA Bf o'y
]! FMCFPTIR I P | 1

Explain the several steps you can take
to improve the effectiveness of your job
contact.

@R R« smewa =ik feifve w1 1

Elaborate the five steps of career
development model.

<l / Or

o SF FHINT AP TZOR SO o dg
Ho6! *Mmfe [y I |

Explain five approaches of relationship
between work and employee mental
well-being.

2030 7T PR AR R0 TOIFT Ao 2y
Additional Questions, 20 marks for 2023 Batch

(@) FRIR HARoER ARG =F  SPRYPTER

[T I 10

Explain the advantages and limitations
of career management.

P25/1467 ( Continued )




(b)

(b)

P25/1467

(19 )

S/ Or

TBITNS AFB) Tre wam Rfew e g
91 |

Explain the various ways for improving
the behavioural traits.

@EAINGR Rew seaet $a9 @ Rfss

S@R 5 52 10
What are the various sources for
conducting research about the
company?
<l / Or

Toleh] (FRAN Piorwlres AW & &6 st
fornl C=0=?
What are the suggestions for effective
career counseling?
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Paper : GECCOM2 (D)
( Risk Management )

1. (a) oo fmiees Sor @ frr’ ol

1)(3:3

Write True’ or False’ of the following :

(i) Rom agemt Rema w1 FdReR ors

Gioe 27 |

Risk management does not involve

with the assessing of risk.

(ii) ‘TRoq wepd forreaae -« Remd T8l

&S T2 I |

Identifying loss exposures’

help in

understanding potential risks.

(i) T @G TYARNR TSI PSR

pa [ SETE

Marine insurance is exclusively for

passenger ships.

(b) TEI A DR {4 F ¢

1x3=3

Fill in the blanks of the following :
(i) RN A D TR TeT =

N F|

Reinsurance 1S a
which reduces the risk
original

P25/1467

process
of the

( Continued )



(21 )

(i) frg __ Rem el Aafoq @Bl AYf
AGCE |

risk is a crucial step in the
risk management process.

(iii) IRDA 23 PA-IGA NS
GoS (2 AT |

" The IRDA Act, deals with
related activities.

2. wae faEEa & @i feRoR so[ s 5y Gl ol -
4x3=12

Write short notes on any three of the
? following :
(@) @R f7m

Market risk

(b) <fafEgs I

Commercial insurance

(c) eI I

Loss exposures

[d) Rem Remss awsae!

Importance of risk financing

(e) Rem RGape

Risk retention
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(b)

(b)

(22 )

e @ fn e
It 4 | by Seoprpy

Define risk. Explain the varioy
of risk.

3+8<

11

1/ Or

Rem e B2 Rem gezeme iR,
A 9 | '

What is risk management? Discy
process of risk management.

3+8<
S8 t_he

oI WA I TH? - gy
RFEPR I 4 | S
What do you mean by non-insurance

transfer? Explain the features of non
insurance transfer. X

11

|
1
</ Or l
!
o ATty 52 Rom IS @y |
AfReiige o S I | 3+8

. !
What are paying losses? Explain the

significance of paying losses in rig)
management.

Ifesre Rom IRl (72 IfeTe Remm Rifsg
SJIPZ DA T | 2+8=1¢

What is personal risk management?
Discuss the different types of persona)
risk.

P25/1467 ( Coru‘.inu.ed)



e 5 S S

{ 28 )

w1 / Or

(b) TGS Remi rewam s wafBpnz
r=0t 34| t5

Explain the various features of identi-
fication of personal risk exposures.

6. (@) &RH R 7 @F I oo At @G
frgg geRA Q@ SCEsa w4t | 3+7=10

What is credit risk? Discuss the impact
of credit risk on the banking system.

</ Or

(p) ©RE Rem 7 @@ oR)en Rem Fager am
S 9 @R T@ Esa ¥ 3+7=10

What is liquidity risk? Discuss the
strategies adopted by Dbank for
controlling liquidity risk.

2030 T FEFFT AR 0 T HoRS 2
Additional Questions, 20 marks for 2023 Batch
7. (a) e RFABPIR IR 0 10 ;
Explain the features of risk. i
&1/ Or

(b) RoM I IR FARTOPNZ A
Sl

Discuss the limitations of risk
management system.
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8. (@) Rz RGww gofc I IR @
A 41 | 10

Discuss the factors influencing risk
retention.

59l / Or

b) s F| FE B w2 @be AR !
SREorEz SEd 4 | 3+7=10 !

What do you mean by captive
insurance? Explain the limitations of
captive insurance.

* % &

2 SEM FYUGP GECCOM2
P25—8500/1467 (A/B/C/D)
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Paper : GECCOM2 (C)

( Career Planning and Development )

e

e

o i (SR PECPRG! SoF 7 fr o 1x3=3

f Write True’ or False’ of the following :

(i) 9E=R RAR RFE I@ECe Jfer
G RN @G 7 I@S P!
ATTGNT 7= |

To¥ plan#one s career it “asEnot
necessary to formulate both
personal and professional goals.

| (i) Clif WI63T @R A fSoTe w0
: 63 |
Covert behaviour is behaviour that
happens inside human beings.

(iii) BIRR (R «TEE R

Networking is a one-time activity.

(b) TR A AR [/ T : 1x3=3
Fill in the blanks of the following :

(i) FRER SRoewd IOHR oo LTS
I (AR |

The most logical part of career
development program is
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